JEELES: 300056 WEEEFR: =42 NERS: 2019-069

V= R WA
HIHER SR TR

WRAE CRYINIESF 2 5 Fr @b AR R TR« GRIIRIESF 22 5 B @bk b il 22 =]
MVEIETEIRS) « CEIT=4E22M R A IR A F BEARE) MRHUE, A NE T =4E
LIMRIIP B IR AT (FFR “2F” ) EHRSHETRRSRR, AEEH, SFHREN
JE, USRS A F B I JEEF 2 Nk GEIS B0 R R IR 5 P & 52018
ARG RFIEAT AR MR EME B, AR HE U RAE W

— XTSHHEREENER

S EARHE R (R T BT B R 201848 J& — M4k W 55 4R Rt Qi ) (M=
[2018]15°%) HIRE XS & T BURIEAT G BAR T, AT K2t BORAT & M EGE . ik
M2 RIINESF A 5 IR RIE , AFAESRE 2 7] RBARA m MR AT 5 1
RVBERRES 2 2> Fodth Se R 2 =] (R STIRDUAN A B R, A5 6 2w AT AR A
e WATBAE R FARS T BORA L.

. XTmENMEIW (B ARABDFERENER

AU B AR TS (T HENY) S8 A0 DS E F 2 7] B 7 SEBR1E L
WHL T A A 2T BOR AR B, AR AR5, WSS ICRAES SN2
OISR A TR SR B ME R E BCR, AR S HE R E RSB, 34
Al A AR SE R B AR HE 6 I R B R H A 2 W B R H L.

v RTFENEMBXRBTRESBRENER



AL 2 THENAT 24 7] 2T BOR AT RHE , ARSET 57 20 H ML TR B
PRURAE PR RAT B o 7] SERR S DUATAH SR AR RLE , W] DL A =] 25 B N sk
WEE, XMMZHETRRFRE T SR . BATREAR NG 2T H A B2 TH 5 5 i

M. XTRBREEKEKGSHQRHEEHNER

gtz WABAIA TGl (2018 R AR b KI5 Bt < o B DUIC 238D
S T 7] 2018 SRR K SRk T7 B < R L

. XTARRIMERIFRANERL

SR, BERREYR, AFX T an BHERBUEZ 127, 00075 70; AHREHIR,
ONTE)XS T T SRR 5 R A 1T 14, 697. 117576, AAEAE B IAASBEE Z 1510 5
F20184F12H31H, A RIFASIIAELE N K AR ORI TT S AR ORI 1 o

ATy 2 FIAAELE IS 6 AME LR T 2 7] R 5 S FAR AR R 25 s T, R
ERUF SMELRIIE B, R FI O (AR R JARSGEE . R AR e JEAT T H
IS [ B WORE P A B 55, APAESRE A\ L AR AR Z ST .

Ht, 2201812 H31H, AR A IRAH AR ATEUE SO VR SR &
(AFIERE) ME, FELA RN A RIS 2] R I HAT

7Ny KTRE 2018 FEXERZRZEIRERL

2018 £F, 22 F) X AT On ) BEICIR AL By S U AT BAAT IR IR A 5 o SR VE AN 65
FUVERIHIEE, AFEEE 2 7] L NRR SR AT 4

II

£, XTRE 2018 FEFADEMRNER

ZANEH P, FATAA 2018 FEREERE B TMRIT & A B BT sebriEm, waEEHEx
(CAFENREY A (AR FRE) WA ME, RMEAFRARITHEH/NERPIF . B,
FATEZ AT 2018 4 FE /Bl i 2



J\\ XTF 2018 FEARMEHIBHTITNIRENER

FATINTY (2018 4 PL A B2 B BIPNIRE) L Zo Rl S 123 =] A B4 il ¢
AW IE R SEPRE L

RI=42FREHHFRAF

EHER

—O—UENH =AU H



